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GENERAL INSTRUCTIONS
I_—

Examinee is diracted to read carefully the following

instructions : wmﬂm%ﬁﬁmﬁm%ﬁﬁﬁmm“% :

1. Examinee must write histher Roll Number in the
specified box on the top left hand comer of this page.
Answers are required to be marked only on the
Computerised O.M.R. Answer sheet which Is being
provided to the examinee.

|2. Besides filling in the Roll Number, the examinae has to
put his/her signature on the Answer-Sheet and also fill
| other required details like Name, Roll Number, Question
Booklet code, elc. as indicaled on the Answer OMR
Sheet. If these details are not filled in by the examinee,
l his/her Answer Sheet will not be evaluated.

|a. For each question, there are four alternative answers,
out of which only one is correcl. Examinee must darken
tha circle of correct oplion in the Answer Sheel by Black
l Ball Pen only.

l4. There are 16 (13+3) pages in this Queslion-Booklet

5 including 1 page for Gensral Instructions and two

blank pages for Rough Work in the last. In case

l- an examinee receives an incomplete or defective

Question Booklet, he/she should make a request

I to the Room Invigilator to change the same within
10 minutes of start of the exam.

|5. This Question Booklet contains 50 questions from
following subject :

I (1) Biology Q. Nos. 1-50

6. Each question carries 1 mark and % mark will be
I deducted for each wrong answer.

7. Possession and use of electronic devices such as
[ Calculator, Cellular Phone, Digital Diary, Log Table,
Pager, etc., are restricted during the examination.

f8. Any leaf from the Question Booklet should not be
detached. Alter the Examination, Queslion-Booklet

I and Answer-Sheet muslt be handed over to the Room
Invigilator.

|9. During examination the examinee will not be allowed
to leave the examination hall till the END of the
I Exarnination.
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BIOLOGY

1. Family Planning program was

launched in
A) 1920
B) 1930
C) 1950
D} 1951

. If a colorblind woman marries a normal

visioned man, their sons will be
A) All normal

B) One half normal and one half
colorblind

C) Three fourth colour blind and one
fourth normal

D) All color blind

. Semiconservative replication of DNA

was first demonstrated in

A} Escherichia coli

B) Streptococcus pneumoniae
C) Salmonella typhi

D) Drosophila melanogaster

- Which of the following type of antibody is

abundantly present in the yellowish fluid
‘colostrum’ secreted by mother during
initial days of lactation ?

A) IgA
B) Ig
C) IgG
D) IgM

Page No. 3

1

< g

1. ufER R wriEw g6 fvan o

A) 19207
B) 1930 %
C) 1950 1
D) 1951 ®

. T quity Afgen o qm g & =l @

ferame et @ | 39k w2 S

A) aft oo

B) 31w A and Fufy

C) i <iten awity 3k v <o g
D) at guiiy

. ST 1 e wealt gl gdvem

H wefdfa forar mam |
A) TEHITRTT Hied
B) RelmEa =it
C) ureHHe TRE
D) Srafiren dentes

. G FEw % R ol F ava grn enfya

9 9t 39 “Fidiem’ § Pk
4 R - Yo & wieraft sgarra § g
g ?
A) IgA
B) IgE
C) IgG
D) IgM
5 JCECE (B)



5. Which one of the following is not a

characteristic of cancerous cell whereas
the remaining three are ?

A) They divide in an uncontrolied
manner

B) They show contact inhibition

C) They compete with normal cells for
vital nutrients

D) They do not remain confined in the
area of formation

. Which of the following is an opioid
drug 7

A) Heroin
B) Cocaine
C) Marijuana
D) Charas

. The linking of the antibiotic resistance
gene with the plasmid vector became
possible with

A) Exonuclease

B) DNA ligase

C) Endonuclease
D) DNA polymerase

. Biolistics (gene-gun) is suitable for
A} DNA finger printing
B) Disarming pathogen vectors

C) Constructing recombinant DNA
molecules

D) Transformation of plant cells
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9.

10.

11.

i2.

13.

Ji A AR L

Which among the following helps in
absorption of phosphorus from soil by
plants 7

A) Frankia
C) Glomus

B) Rhizobium
D) Anabaena

Which of the following sets is
hermaphrodite 7

A) Earthworm, Leech, Sponge
B) Scorpion, Ascaris, Hydra
C) Earthworm, Leech, Ascaris
D) Ascaris, Scorpion, Hydra

Which one of the following periods is
largely associated with extinction of
dinosaurs and increase in the flowering
plants and reptiles ?
A) Jurassic

C) Cretaceous

B) Triassic
D} Permian

Elongation of the RNA polynucleotide
chain always takes place

A) When RNA acts as a primer

B) 5'—3' direction with new nucleotide
always added at the 3' site

C) During replication of DNA

D) In any direction along the entire
length of single DNA strand

Pussa Gaurav variety of Brassica is
resistant to

A) Jassids

B) Aphids

C) Shoot borers
D) Fruit borers
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Assertion and reason type questions :

In each of the following questions, two
statements are given. One is assertion (A)
and one is reason (R). Mark the correct
answer as

A:

B:

@]

14,

15.

16.

17.

If both A and R are true and R is the
correct explanation of A.

If both A and R are true, but R is not the
correct explanation of A.

. If A is true but R is false
: If both A and R are false

Assertion : Viviparous animals give
better protection to their offsprings.

Reason : They lay their eggs in safer
places in the environment

A B C D

Assertion : In apomixis, plants of new
genetic material are produced.

Reason : In apomixis, individual of the
same genetic constitution meet.

A B C D

Assertion : Use of condomis a safeguard
against AIDS and sexual diseases
besides checking pregnancy.

Reason : Certain contraceptives are
planted under the skin of the upper
arm to prevent pregnancy.

A B C D

Assertion : In a person with AB blood
group, the erythrocytes carry both A
and B antigens on the surface.

Reason : The alleles |* and I° that
produce AB blood group are
co-dominant and both expressed.

A B C D
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18.

19.

20.

21.

Which of the following crosses is a
test cross ?

A) WW x WW
B) WW x Ww
C) Ww x ww

D) Ww x Ww

Which one among the following pairs
of nitrogenous bases of nucleic acids,
is wrongly matched with the category
mentioned against it ?

A) Adenine, Thymine — Purines
B) Guanine, Adenine — Purines
C) Uracil, Cytosine — Pyrimidines

D) Thymine, Uracil - Pyrimidines

The bonds that hold the two
complementary strands of DNA
together are

A) lonic bonds

' B) Peptide bonds

C) Phosphodiester bonds
D) Hydrogen bonds

Darwins finches are a good example of
A) Adaptive radiation

B) Convergent evolution

C) Industrial melanism

D) Connecting link
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22.

23.

24,

25.

The scutelum observed in a grain
of wheat or maize is comparable

to which part of the seed in other
dicotyledons 7

A) Aleurone layer
B) Plumule

C) Radicle

D) Cotyledon

Nucellar polyembryony is seen in the
species of

A) Brassica
B) Citrus

C) Gossypium
D) Triticum

Which of the following have a special
cellular thickening at the micropylar tip
of the embryo sac ?

A) Central cell
B) Egg cell

C) Synergids
D) Antipodals

The Leydig cells found in the human
body are the secretory source of

A) Glucagon
B) Androgens
C) Progesterone

D) Intestinal mucus
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26. Which of the following gas was absent

27.

28.

29.

in the atmosphere at the time of origin
of life 7

A} NH,
B) H,
C) O,
D) CH,

The process of joining amino acids is
cailed

A) Transcription
B) Translation
C) Conjugation

D) Transmission

The first menstruation begins at
puberty and is known as

A) Menarche

B} Menopause

.C) Ovulation

D) Oogenesis

An allele that mask the effect of
another allele is called

A) Recessive

B) Dominant

C) Epistatic

D) Assorted
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30.

3.

32.

33.

34.

The fossils of this man provide first
evidence for the burial of their dead.

A) Peking man

B) Java man

C) Cro-magnon man
D) Neanderthal man

The confirmation test for typhoid
fever is

A) Widal test
B) ELISA

C) Ultra sound
D) MRI

Holstein — Friesian, Brown — Swiss
and Jersey are all well known

A) Animal husbandry scientists
B) Exotic breeds of cow

C) Exotic breeds of poultry

D) Exotic breeds of goat

The gas present in maximum proportion
in gobar gas is

A) Butane

B) Methane

C) Carbon dioxide
D) Propane

Mention the wrongly matched pair
among the following

A) Bryophyllum — leaf buds
B) Agave — Buibils

C) Penicillium — Conidia

D) Water hyacinth — Runner
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35.

36.

37.

38.

The endometrium is the lining of
A) Bladder

B) Vagina

C) Uterus

D) Fallopian tube

Which among the following is also a
part included in the group of external
genitalia in human females apart from
Labia majora and Labia minora ?

A) Clitoris
B) Vagina
C) Oviduct
D) Cervix

Which of the following hormone induces
parturition ?

A) TSH

B) GH

C) Vasopressin
D) Oxytocin

Medical Termination of Pregnancy
(MTP) is considered safe upte how
many weeks of pregnancy ?

A) six weeks
B) eight weeks
C) twelve weeks

D) eighteen weeks
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39.

40.

41.

42,

Locations on sites in the human DNA
where single base DNA differences
occur are called

A) Repetitive DNA
B) VNTR
C) SNP

D) Expressed sequence tags

Organic compounds that first evolved
on earth required for origin of life were

A) Urea and amino acids
B) Proteins and amino acids
C) Proteins and nucleic acids

D) Urea and nucleic acids

Who proposed that the first form of life
could have come from pre-existing non
living organic molecules ?

A) S. L. Miller

B) Charles Darwin

C) Alfred Wallace

D). Oparin and Haldane

Infective stage of Plasmodium in
man is

A) Gametocyte
B) Sporozoite
C) Merozoite

D} Metamerozoite
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43. What is true about Bt toxin ?

A) Bt protein exists as active toxin in
the Bacillus

B) The activated toxin enters the
ovaries of the pest to sterilize it
and thus prevent its multiplication

C) The concerned bacillus has
antitoxins

D) The inactive protoxin gets converted
into active form in the insect gut

44, Lactic Acid Bacteria (LAB) grow in milk
and convert it to curd and improve its
nutritional quality by increasing

A) Vitamin - A
B) Vitamin-B,,
C) Vitamin - B,
D) Vitamin-C

45. A patient brought to a hospital with
myocardial infarction is normally
immediately given

A) Cyclosporin A
B) Streptokinase
C) Penicillin

D) Statins

46. An immunosuppressive agent
produced by a microbe

A) Cyclosporin A
B) Streptokinase
C) Penicillin

D) Statins
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47.

48.

49,

50.

Which one of the following represents
a palindromic sequence in DNA 7
A) 5 —CCAATG - &
3 —-GAATCC- %
B) 5 —-CATTAG - &
3' —GATAAC- %
C) 5 - GATACC- 3
3 —CCTAAG - %'
D) 5 —-GAATTC - &
3 —CTTAAG -5

What was the key finding from Giriffith’s

experiments using live and heat killed

pathogenic bacteria ?

A) Bacteria with a smooth coat could
kill mice

B) Bacteria with a rough coat are not
lethal

C) DNA is the genetic material

D) Genetic material can be transferred
from dead to live bacteria

The gene that controls many
characters is called

A) Co-dominant gene

B) Polygene

C) Pleiotropic gene

D) Multiple gene

Conditions of a karyotype 2n + 1 and
2n + 2 are called

A) Aneuploidy
B) Polyploidy
C) Allopolyploidy
D) Monosomy
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Answer Key for JCECE (Biology) (Set-D)

Q. No. | Answer Key |
1 D
2 D
3 A
4 A
5 B
6 A
7 B
8 D
0 C

10 A
11 C
12 B
13 B
14 C
15 D
16 B
17 A
18 C
19 A
20 D
21 A
22 D
23 B
24 C

B

Q. No.

Answer Key_

26
27
28
29
30
31
32
33
34
35
36
37
38
39
40
41
42
43
44
45
46
47
48
49
50
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